
Homework 4 Solutions

CAS CS 132

Fall 2024
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[e'i =]-(in)
9(b) + 4) -2) = h

h =
- 8

#planation:Weneed to ohird
equations in the associated linear system

are satisfied. We can then use those

to determine h.
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=> Xz= =

2h" -n - 15 =0

↳
Note : None of the rectors can be

colinear
,

so they must be coplanar

In particular ,

it must be thatE spanu,i]
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Note :Je is not a scalar multiple

o I so 4 span ,
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Note : There are two answers
, you can

take thenegation as well.
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T(m) = T( - F
- 28 + 3)

-
- T(i) - 2T() + T(v)

-[i] - -(2) + []
· (i) - (i) +E) =(i)
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1 : / -(b) (i)- (i)

15) (ii)

10] +(i) : (i) + (i)
Does not satisfy additivity

#te : There are many possible solutions
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(ii)n (xi
+xyi + x72))
<y + 17

=

((ix
+ jy + 57)")

< y + 17

=

((5(x
+ i + =3)(i)

c(y +z)

= (c(x
+y3+=3) &
c(y+z)

= [xxyz


